S5EME CALCULS

Exercice 2

Calculer les expressions suivantes en détaillant les calculs.

A=10x11-13 D=10x13—(3+10) = (5+8)

B=6x(8—2) E=13+9412:2%x6-5
C=10x5-2 F=13x84+T7T—-8+9=+9
Exercice 3

Caleuler les expressions suivantes en détaillant les caleuls.
A=06+2x2

B=13:13+9
C=11-(5+3)

D=134+10+2+8x(5-4)
E=9x(8-3)+12+4+9
F=8x11+8+44+12-12

Exercice 4

Caleuler les expressions suivantes en détaillant les caleuls.

A=5+(10-5) D=12+3x13—11+2+8

B=3+13-2 E=7T+12+12x(6+11)—9
C=12x8-13 F=04+2x3-64+12=12
Exercice 5

Caleuler les expressions suivantes en détaillant les caleuls.
A=Tx(4+5)
B=7T+T7=x10
C=44+6-6

D=2x(114+7)+12+12-4
E=9+12x(9— (2 +6))+12
F=10x84+10=10—(12+10)

Exercice é

Caleuler les expressions suivantes en détaillant les caleuls.
A=124+5xT
B=7+(11-4)
C=8x4+411

D=11+(6-5)+5+5x9
E=12x(T+10)+5-9+9
F=11+11+12x (4+7)—10

feuille 5

G=6x124+4-3+4+2
H=02x93+39—(59+6.4)
I=3x64+97—4+7

G=10+10x8+6-5+7
H=764+63-124+56x37
I=8—(25+36)+18x35

G=5x(11+7)+5-11+11
H=069x864+384+77-1.2
IT=91-6=<6x(5+33)

G=10+5x5+3+13 -2
H=34417+84x(49-32)
I=67+44x%55—(8,4+6,2)

G=4x8+7+13+(9—8)
H=91x2+43—(6,7+3)
I=52x%(67+52)—(58+7.1)



